BHARAT COKING COAL LIMITED (A SUBSIDIARY OF CIL) OFFICE OF THE GENERAL MANAGER, ROPEWAYS AREA PO: PATHERDIH, DHANBAD

Ref. No. GM(R)ACE/NIT/11-12/ 1117

Notice Inviting Tender

Sealed Tender in Two parts (Parts – I Parts – II on overall percentage rate basis are invited from experienced and eligible contractor for the following works:-

Sl No	Name of work	Estimated Cost	Earnest money	Cost of Tender Paper	Time of completion
1	Repaired and maintenance of quarter of Shyam Yadav and Dhanjay Singh (Overman) E.J.A. (Convertat quarter from Banglo B.B.Camp Ropeways	Rs-66328.00	Rs-664.00	Rs-100/-	30 Days

AVAILABILITY OF TENDER DOCUMENTS

from 21.10.2011 to 24.10.2011 Tender

Dated: 14.10.2011

document will be issued on all working days working hours except on Sunday & holiday in the event of the specified date for submission opening of bids being declared & holiday the bids will be received opened on the appointed time on the next working day. The tender document is also available on wed site: www.bccl.gov.in in and can be downloaded.

TIME & DATE OF RECEIPT/OPENING OF TENDER

The tender will be received on 27.10.2011 from 10.00 AM to 1.00 PM in Tender box at (1).CISF Post near Koyla Bhawan gate, Koyla Nager, BCCL, Dhandad.(2)Security office of Ropeways Area. Will be opened on 29.10.2011 at 11.00 AM at the office of the ACE/Ropeways Area.

1. ELIGIBILITY CRITERIA

- a) The intending Tender must have in is its name as a prime contractor experience of having successfully completed similar works during last 7(seven) Years ending last day of month previous to the one in which bida applications are invited should be either of the following:-
- (1) Three similar completed works each costing not less then 40% of the estimated cost Or Two similar completed works each costing not less then 50% of the estimated cost Or (3)One similar completed work costing not less then 80% of the estimated cost. Similar work means: Building works.
- (b) Average annual financial turnover of civil works during the last three years ending 31st March of the precious financial, should be at least 30% of the estimated cost.
- 2.) The Tender documents can be had from the office of the undersigned during the period mentioned above on deposition of requisite cost of Tender paper in form of cash Bank draft of any nationalized bank/scheduled commercial bank approved by Reserve bank of India in favor of "Bharat Coking Coal Limited" Payable at Dhanbad.
- 3.) Completed sealed Tender Document (Part I & II) should be submitted at the same time. Part I shall consist of terms & conditions of the Tender, additional terms and conditions if any,

Technical bid and credentials. Part II shall consist of tender document as sold to the tenderers duly filled in for rates, amount etc. i. e. price bid.

- 4.) The earnest money is to be deposited as per detail given in tender documents.
- 5.) TIN No is to be submitted.
- 6.) The tenderers have to submit Permanent Account on (PAN) of income Tex.
- 7.) Conditional tenders will not be accepted.
- 8.) Issuance of Tender document does not mean that the parties are considered qualified.
- 9.) The experience as given in the eligibility criteria should be in the name and style in which tender is filed the experience in the name of some other firm/company will not be considered of the purpose/.
- (10) The validity of the tender will be 120 days from the date of opening of price bid.
- (11) The Managements of BCCL reserves right to reject any or all the tender of split the work among two or more terderers without assigning any reason what so ever.
- (12) Other details may be obtained from detailed tender notice/ Tender documents/ website http://bccl.cmpdi.co.in
- (13) The tender documents has downloaded from the above mentioned website, the tenderers are required to deposit along with their tender a Bank Draft of any Nationalized/schedule Commercial Bank approved by RBI payable at Dhanbad exclusively towards the cost of tender document for the amount indicated as above, in the envelope as stated as clause three of the NIT. Any bank draft prepared after the scheduled closer of sale of tender documents may be layable for rejection.
- (14) The contains of the tender documents available for sale in our office shall be deemed as authentic. The bidder will be required to submit an under taking that they will accept the tender document as available in the website and their tender shall be rejected if any tempering is there in the tender document thus submitted.
- (15) The tenderers must submit an affidavit with their offer as per Civil Engineering Manual & declaration that they have not been banned of delisted by any Govt. or quasi Govt. agencies or PUSs.

Area Civil Engineer

Ropeways Area.

COPY TO:-

- (1) The C.V.O, BCCL
- (2) All CGMs/GMS OF Area of BCCL (Display in Notice Board)
- (3) The General Manager (Civil), CED/ Koyla Nager.
- (4) H.O.D (Adnm), BCCL, Koyla Nager
- (5) The GM (System), BCCL with a request to display this NIT in BCCL web site with download facility
- (6) GM(R)/AFM(R)/PO(R)PM(R) & Cashier(R)
- (7) The Inspector I/C, CISF, Koyla Bhawan.
- (8) The Inspector I/C Security Ropeways Area
- (9) Display in Notice Board Ropeways Area

Bill of quantity for the work of — Repaired and maintenance of quarter of Shyam Yadav and Dhanjay Singh (Overman) E.J.A. (Convertat quarter from Banglo B.B.Camp Ropeways.

SI No.	Description of Item	Quantity	Unit	Rate	Amount
1.	Half brickwork with class in C.M 1:4 in F&P	05.75	M^2	258.25	Rs.1484.94
2.	B/work with class 50 in Cm 1:6 in F&P	10.50	M^3	2017.25	Rs.21181.12
3	R.C.C. work of mix 1:2:4	0.23	M^3	3359.60	Rs. 772.71
4	Rain forcemeat for RCC work	14.00	Kg	42.70	Rs. 597.80
5	25 mm thick C.C floring of mix 1:2:4	34.50	M^2	125.15	Rs. 4317.67
6	Cleaning of septic tank one tank in full.	01.00	Each	400.00	Rs. 400.00
7	Structure steel work welded in bolted up section for door	40.00	Kg	46.35	Rs. 1854.00
8	P/F Indian type W.C pan Lang 580 mm long	01.00	Each	534.60	Rs. 534.60
9	P/F foot rest of size 125×25×5 mm	01.00	Pair	112.85	Rs. 112.85
10	Dry brick flat soling of class 50	16.25	M^2	116.20	Rs. 188.25
11	Labor cost for making door (window)	01.00	Each	500.00 (L.S.)	Rs. 500.00
12	Labor cost for repairing steel window by hiring of welding machining welder etc complete and also required material	Full work		500.00 (L.S.)	Rs. 500.00
13	P/F G.I. pipe 20mm dia	25.00	Mtr	133.85	Rs. 3346.25
14	12 mm thick C.P. of mix 1:6	93.00	M^2	67.65	Rs. 6291.45
15	12 mm thick C.P of mix 1:4 with punning	85.00	M^2	97.90	Rs. 8321.50
16	Distempering with dry distemper old work	570.84	M^2	12.35	Rs. 7049.87
17	White washing with lime old work	229.88	\mathbf{M}^2	4.10	Rs. 942.51
18	Painting with S/enamel paint old work	217.87	M^2	22.85	Rs. 4978.33

19	P/F G.I. Pipe eternal work 15 mm dia	3.00	Mtr	105.85	Rs. 317.55
20	P/F ball valve (brass) with 15mm dia	01.00	Each	228.35	Rs. 228.35
21	Structure steel work in single section	16.80	Kg	42.15	Rs. 708.12

TOTAL – Rs.66327.87 Say - Rs.66328.00

Signature	Λf	Iccuing	Officer
Signature	OΙ	ISSUIII2	Officer

I / v	ve quote	_ %() O	n above/bellow bas	sis

Or at par on the estimate rate for all the above item.

Signature of the contractor With seal / Mohar